In-Class Exam 5-7

Version C (76 pts)
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15) a) 1s2 2s2 2p6 3s2 3p6 4s2 3d10 4p6 5s2 4d10 5p5

b) For NaI, it is ionic.  For Icl5 the electrons come from the 5p subshell and for IF7 the electrons come from the 5s and 5p subshells.

16) a) Amount of energy necessary to add an electron 

b) Higher electron affinity because Ar already has 8 electrons and is more stable with a full octet.  For Na, it makes it more stable to add another electron to a half filled 3s subshell.

c) Mg has a filled subshell in s and adding another elctron would make it less stable.

d)Adding an electron to Si would make the 3s subshell ahlf-filled.  Adding an electron to P would fill the 3p subshell.

e) Electron affinity would be greater since it increases up a group and left to right for periods. 

